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1. Answer any five questions from the following: 2x5=10
el @-el 2isf @vss Ted nes
(a) What do you mean by simple random sample?
YR A A =0 [ @A 9
(b) What is a Pie chart?
3% foq FIC& I ¢

(c) What is the difference between questionnaire and interview method of survey?
2P TS R AP RS AN ~afed g AN & 2
(d) What do you mean by ‘Outliers’?
‘Outliers’ F&TCe & @I ?
(¢) What is the main difference between Indian Population Census Data and National
Sample Survey Data?
SIS TSR TAACIIR O G FRIAIE T FCSq S N e sHiday & 9
(f) What do you mean by the term “Stochastic Regressors”?
“Stochastic Regressors” F#C® & (1T ?

(g) What will be the consequences of the problem of multicollinearity on the least squares
estimators?

#fW 351 “@fere fare sfamtea 891a ‘Multicollinearity’d oo 7o ¢

(h) What is the difference between ‘Intercept Dummy Variable’ and ‘Slope Dummy
Variable’?
‘Intercept ©Ifil 5o/ @2 Blet GIf HeTpa” S0 Al fF ¢

2. Answer any four questions from the following: 5x4 =20
e @-e 51Afe elves Teq aies

(a) Descriptive Statistic of the variables wages, education, age, sex and language are
given below. Explain the descriptive statistics:

farsa eve verifRiafem afanEs #AfRERAED g Frs

Variables | Obs. | Mean | Std. Div. | Min. | Max.
Wages 4147 | 15.55 7.88 | 2.3149.92
Education | 7176 | 12.49 3.36 0 20
Age 7425 | 43.95 17.69 16 95
Sex 7425 | 1.47 0.49 1 2
Language | 7304 | 1.37 073 1 3
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(b) The following results are obtained by OLS vegression uiingy quatterly data for 1960
1979 inclusive:

. . o \ - | d - trs1 2 r';vl
1960-1979 (inclusive) PG quarterly w4 (e OLS ropgression a sy LRl
T AN (RS

o 2200008y, 1254y,

where, the explained sum of squares — 112.5 and the residual sum of squares 19.5.
Compute R and interpret the result.
T Explained sum of squares = 112.5 @8 Residual sum of squares 19.5 o7 514 R*
AT el @R TEwE i S

(¢) Prepare a questionnaire for a project on “Relation between wage rate and years of
Education™.

“TGAR T R RIS ISTE W WS B et Gl aalh anlad] ©Ee wr
(d) Discuss the Breusch-Pagan test for the detection of heteroskedasticity.
Heteroskedasticity 3 SIf¥g 612 $44l @+ Breusch-Pagan A2l ada @2l

() What is the role of “Variance Inflation Factor” in determining Multicollinearity in
linear Regression?

R e Multicollinearity fA<{&@ ¢¥tq Variance Inflation Factor’™@ sfua f& ¢

(f) Define and distinguish between Type-I and Type-II errors.
Type-1 @8 Type-11 @If%a 7wl wie Gk ~A1F el s

3. Answer any fwo questions from the following:

fosferie Q-G 715 eivse Ted wies

(a) (i) In the graph below we show the Scatter Plot and Fitted Line of the relation
between GNP per capita and life Expectancy at birth. Explain the diagram.

Sive oafbre Mafrg GNP @3 SCTe 7 e Siaw-aq Nt < <& Scatter
Plot ‘€ @8 Fitted Line’d S (viicet zeace, oafb apian st
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(i)

(b (1)

(i)

© @)

5112

In the following table relation between type of place of residence and caste or
tribe has been shown. Explain the table.

fAfeie GRTE AR BH61S &P @3 Caste 9l Tribe-@ad 514y 721 (1Al
TR (GREAD el

rTybes of Residence | Caste Ti‘ihe No ca.;;te [)oﬁ:”lwknorwi I"E);eﬁtl~
T Urban | 16630 1805 | 874 | 76 | 19385
Rural 36336 | 7821| 202 | 153 | 46362
T Tol 52966 | 9626 | 2926 | 229 | 65747

The following data are obtained from 10 observations on y, xi and x,
10f® wrea fofare y, x, @8 x,’3 B ANoA Forzarafer Aeql (TR

Y y=20 > x =30 Y x, =40
D v =882 Y xf =92 Y x; =163

2 =59 Y yx, =88 3 xx, =119

Estimate the regression of y on x; and x,.
YT x; @R x,’d Regression estimate Tl

Why is adjusted R* useful in a regression model with multiple regressors?
Multiple Regressors 3%feT® Regression Model & (%09 Adjusted R3
T 1 ¢

From the sample of 10 observations the following results were obtained:
> %, =1110 > X;=1700 ) XY, =205500
> X7 =322000 Y ¥?=132100

with correlation co-efficient » = 0.9758. But on rechecking this calculation it
was found that two pairs of observations were recorded as

Y X Y X
90 120 insteadof 80 110
140 220 150 210

What will be the effect of this error on #? Obtain the correct r.

107 sifmweta ao T Fakie [Remef steat e
3 Y, =1110 > X,=1700 ) XY, =205500
3 X2 =322000 Y ¥ =132100

932, 7z @a® r = 0.9758
g ~JFTar #IA T (Tl O D (B! el 7 TR 9T

Y X Y X
90 120 T oGS 80 110
140 220 150 210

% GO G 4 Bofa N 2R G ¢ WS -7 W fef ey
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(i) What do you mean by “Research Methodology” of a project?
@I & “Research Methodology” 1S f (R 2

(d) ()  The regression result below shows the relationship between total wage of
workers and years of general education, technical education and age of the

workers. Explain the result table in detail.
A i aRe MeaEa warE- wfired TGAd ol Ao tiEd R T2,
IR fmeta qwa @ qUt-9a 3eoRE el 2gaee | GfwB At et

_______ ???fff_l,_w_-,_?f_- df ms Hutber ot obs = 1,429
Model | 755644707 3 251881560 5:36 ot . :qgé;;
I L R
Towl | darerendy  Lazs waainnes mes om0 3 S
e ¥
--ff?f:fffiil- Coof. _std. Err. T "P>ltl {95% Conf. Intervall
gen_edu | 155,505 5.561899  28.81 0.080 1446143  166.3958

toch_edu | 27.9682  9.254925 3.82  g.682 9.753457  46.06294
age |  41.12601 1,8067862 22.75 9.880 37.57965 46.67236
.cons | -1547.226 78.64591 -19.67 @.080  -1781.581 -1392.952
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(i)  Explain “Dummy Variable trap”.
Dummy 5&F % & I 2

X
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